
A 4-Log Reduction on a surface with 1,000,000 CFUs would leave 
100 CFUs, which is written as a 99.99% reduction in potentially 
harmful microorganisms.

“Log” is short for logarithm, which is the power to which a base, such 
as 10, can be raised to produce a given number. As an example, 
Log-4 represents 104, 10x10x10x10 or 10,000.

Log reduction means a 10 fold (one decimal place) or 90% reduction 
in CFUs.

In terms of reduction of CFU’s on a test area:
 1 - Log (90%) reduces from 1,000,000 to 100,000
 2 - Log (99%) reduces from 1,000,000 to 10,000
 3 - Log (99.9%) reduces from 1,000,000 to 1,000
 6 - Log (99.9999%) reduces from 1,000,000 to 1

QUICK GUIDE TO LOG REDUCTION
The following graph shows the results log reductions have on a test area with 
1,000,000 CFUs (Colony Forming Units).
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Instant Mist Hand Sanitiser

Professional
WE’VE GOT FOOD SAFETY SOLUTIONS FOR EVERY PROCESSING FACILITY

Smart-San Instant Mist Hand Sanitiser      70% v/v Ethanol Solution      Provides a Log 5 Reduction (99.999%) 


